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B ENELT 250 294 | | EXE(20) | TQL(20) | VAR(20) | CLN(10) | MSC(10) | BDY(10) | SHW(10) | | @itEB= | St | REIEL:
1 A5 5> 1B 19.0 17.0 15.0 9.0 8.0 7.5 6.5 82.0 S) 1
2 |AJFS Uay 1B 19.0 18.0 18.0 7.0 6.5 6.0 6.5 81.0 NJ 1
3 |ZATY tART 2B 19.0 13.0 14.0 9.0 8.0 9.0 8.5 80.5 WJ 1
4 | AAV DastA 1B 16.0 18.0 17.0 7.5 5.5 6.5 4.5 75.0 NJ 2
5 |9SHD A0 2B 19.0 14.0 15.0 8.5 5.5 6.0 5.5 73.5 WJ 2
6 |AULS AIRT 1B 15.0 13.0 13.0 8.5 8.0 7.5 7.5 72.5 Q) 1
7 | AOLS Sa2& 1B 12.0 17.0 14.0 8.0 7.0 7.5 6.5 72.0 WJ 3
7 Y TaAF 1B 14.0 16.0 15.0 8.0 7.0 5.5 6.5 72.0 WJ 3
9 |FHAS IVV 5B 17.0 14.0 14.0 6.5 7.5 5.5 5.5 70.0 EJ 1
9 TR TV 4B 14.0 15.0 14.0 7.5 6.5 6.5 6.5 70.0 c 2
11 | JOFH eEF 2B 19.0 11.0 12.0 6.0 7.5 6.5 7.0 69.0 EJ 2
12 Hh¥+N5 a9+ 1B 15.0 16.0 = 13.0 6.0 55 5.5 5.5 66.5 = CJ 3
13 Jr9 VS 1B 17.0 12.0 = 10.0 6.5 65 7.0 7.0 66.0  SJ 2
13 FH3< 7FEO 1B 14.0 12.0 | 12.0 7.5 65 7.0 7.0 66.0  CJ 4
15  FAHZ 19H 1B 15.0 13.0 = 13.0 7.0 60 5.0 5.5 64.5 = EJ 3
15  JILAD AvF 2B 16.0 14.0 13.0 5.5 5.5 5.0 5.5 64.5 WJ 5
15 IYELUID 1B 11.0 13.0 = 11.0 7.5 75 75 7.0 645 = CJ 5
18 | FALS IO 1B 17.0 13.0 = 12.0 6.0 60 5.0 5.0 64.0 = WJ 6
19 TYYS U3uH 1B 18.0 14.0 = 13.0 4.0 35 | 5.0 4.5 62.0 = NJ 3
19 HHTa>AF 1B 15.0 15.0 | 13.0 6.0 40 = 45 4.5 62.0  EJ 4
19 I HTLH 1B 15.0 13.0 = 12.0 6.0 65 | 5.0 4.5 62.0  EJ 5
22 AU IPURY 1B 16.0 10.0  11.0 6.5 75 | 5.0 5.5 61.5 = WJ 7
23 OIHA U3 5B 12.0 13.0 = 13.0 6.5 55 5.5 4.0 59.5 | EJ 6
24 EFVF IHV 1B 13.0 13.0 = 12.0 5.5 55 4.0 6.0 59.0 | EJ 7
25  HOH HATa 1B 14.0 10.0 = 11.0 6.5 55 5.0 5.5 575 = Q) 6
25 | )\FA HARY 2B 16.0 12.0 = 12.0 4.5 45 4.0 4.5 57.5 | EJ 8
27 | SEYF a4 1B 13.0 12.0 = 11.0 7.0 50 = 5.0 4.0 57.0 | EJ 9
28 | EF A=Y 1B 12.0 12.0 | 13.0 6.0 50 4.5 4.0 56.5 | EJ 10
29 |WRY 2o 1B 16.0 13.0 = 13.0 3.5 35 | 3.5 3.0 55.5 | NJ 4
30 A5 23y 5B 10.0 11.0 = 11.0 6.5 50 | 6.0 5.5 5.0 C | 7
31 | FSAZ 92T 2B 11.0 14.0 12.0 5.0 5.0 3.5 4.0 54.5 EJ 11
32 SXENIHS 1B 12.0 9.0 | 12.0 6.5 50 5.0 4.5 540 @ SI | 3
33 hUS OO 4B 11.0 100 = 8.0 6.0 6.0 | 6.0 6.0 530 CI 8
34 [OHEKLIUF 1B 10.0 9.0 | 8.0 6.0 70 | 6.5 6.0 525  CI | 9
35 98 TaiAF 1B 9.0 10.0 | 8.0 7.5 55 6.0 6.0 520 CI 10
36 <4 eOd1+ 1B 10.0 11.0 | 9.0 5.5 50 6.0 5.0 515 | S} | 4
36 HHF 7FOZ 1B 9.0 10.0  12.0 5.0 55 5.0 5.0 515 | Bl 12
38 TYIS AotA 1B 14.0 13.0  11.0 3.5 3.0 3.5 3.0 5.0 | NJ 5
39 | FHA AYIU 1B 12.0 100 = 8.0 5.0 50 5.0 5.5 505 = C 11
39 [ J\&HD HTA 1B 14.0 11.0 = 11.0 4.0 40 3.5 3.0 505  El = 13
41 \FA HARYT 2B 13.0 70 7.0 6.5 55 5.5 5.5 500 SI | 5
41 | FHLS VYREH 5B 11.0 9.0 | 10.0 5.0 50 | 4.5 5.5 500 G 12
43 AP FIORT 1B 13.0 10.0 10.0 3.5 4.0 4.0 4.0 48.5 NJ 6
44 KT3I aUF 2B 10.0 10.0  10.0 5.0 40 5.0 3.5 475 = Bl | 14
45 AT VDIH 1B 10.0 9.0 | 11.0 4.5 35 | 45 3.5 46.0 = EJ 15
46 | HFHI IHRS 2B 8.0 14.0 = 13.0 2.0 25 | 3.0 2.5 450 NI |7
47 3AIAS IAURYT 1B 11.0 9.0 = 9.0 4.0 35 | 45 3.5 445 | Bl | 16
47  DHFR S 1B 13.0 80 7.0 4.0 40 3.5 5.0 445 | Bl | 16
49 v HAk 1B 15.0 70 | 6.0 3.5 35 | 3.0 4.0 42,0 @ El | 18
50 kD VS 1B 10.0 70 7.0 4.0 50 4.0 4.0 41.0 Wl | 8
51 | JIRI O 5B 8.0 60 7.0 4.0 40 | 4.0 3.5 365 Sl | 6
52 | 7MRO U 1B 9.0 80 | 6.0 4.0 3.0 3.0 3.0 3.0 B} 19
52 )\FA = 2B 10.0 50 5.0 4.0 35 | 4.0 4.5 360 Bl | 19
54 kO3 9% 2B 7.0 6.0 | 6.0 5.0 3.5 4.0 3.5 3.0 SI 7
54  HhA AT 2B 13.0 40 4.0 3.0 45 25 4.0 350 Wl 9
56 |AFHIATIRYT 1B 9.0 9.0 7.0 3.0 20 25 2.0 345 NI | 8
56 | EUI FAY 2B 13.0 50 4.0 4.0 30 3.0 2.5 345 Wl | 10
58 | AFHD THRS 2B 8.0 70 7.0 2.5 25 25 1.5 31.0 0wl 11
59 | AAHD AL 1B 5.0 40 | 5.0 3.0 40 3.5 3.5 280 B | 21
60 | ATAS F3IS 4B 4.0 20 20 4.0 50 4.5 4.5 260 @ CI | 13
61 VA FHATF 1B 3.0 40 2.0 5.5 35 4.0 3.5 255  CI | 14
62 | HH/\S LY 1B 10.0 3.0 3.0 2.5 20 2.0 2.0 245 Wl | 12
63 <WH RES 4B 5.0 40 3.0 3.0 25 | 3.0 2.5 230  C | 15
64 | EHS HIHOY 1B 4.0 1.0 | 0.0 1.0 35 2.0 4.5 160 Bl 22
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